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6 MEME

RIRE 6.1. XD DAE % KD 72 X\,

(1) f(,y) == 2* — 22y + 3y — 8z + 6y (2) f(z,y) :=2® +ay — a2 — ¢

() o) may+ >+ (@) flap) =2 oy i+ Y
(5) f(z,y) == 2° + 62y + (6) f(z,y) == 32> + 6y — y°

(7) flz,y) == ay?(12 -z —y) (8) flz,y) ==a" +y* —2(x —y)?

MIRE 6.2. IXDBEEUX (0,0) DM 5T Hessian 28012785 Z L 2 HER L 725 2 T, MK A - /N -
BROENTH 2P RRI .

1) f(z,y) =2+ (2) f(z,y) == 2" +y* 3) fx,y) == —a* + 2%y — ¢*
(4) f(z,y) =32 = 32%y +4* (5) flz,y) == 2% — 3zy® + ¢
B8 6.3. L NOMEZ MEMEZ 2 A TR SR IV,
(1) AOEI N 12 0 =M CHEVSRKICR D =AML, 72, ZTOROMHEZ KD &.
(2) FDEZXH 36 DEFERTHRREB AT DRI, £72, T OROKREZ KD K.
(3) RMEFEA 24 DE SR THRE AT B VARIZMA D, 72, TOREOEKFEZ KD L.

fIRE 6.4. f(x) DO THEETH D LT 5. LTFERLAEI.

(1) AC O(CRN) IZHEED L &, f(A) X R OEAEA.

(2) A DSRIREAE TROBALED a,b€ AL ¢ :[0,1] = RY, ©(0) =a, (1) =b k75 AT
iz & 2GR o(t) BWEMAET S L &, f(A) I ROKM. FE KR IZEW 2I0RERE 2 D.

FEMIA REE S T, iRERS 7200 &) R X 2B IZHXETH 5.
FE 6.5. IRDEM g(x,y) =0 D N TOREE f(z,y) DEAME - R/MEZKDIRI V.

(1) fz,y) == day, gl,y):=2>+y*—2=0.

(2) f(z,y) =22 —y, g(z,y):=a"+y*—5=0.

3) f(m,y) =x+y, glz,y) =a"—ay+y*-3=0.

(4) f(z,y) =z+y, glx,y)=z"+y"—2=0.

(5) f(z,y) :=6zy, g(z,y)=2"+2zy+4y* —4=0.
(6) f(z,y) =3z +2y, g(z,y)=2a"+ay+y*>—3=0.
(7) flz,y) =a® +ay+y® glz,y) =2 —day+y* —6=0.

fIRE 6.6. DA N D[RE % S S MEREZZ 2 TR E I\,

f(z,y) = ;xp + ;yq DE/MEZ KDL I W (2T K D Young DAEXNFEHTE 3).
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FERE
BIRE 6.7. (RO DIGE %2 KD 7R X\,
3 4 5 2 2
(1) f(x,y):zm @) flz,y) == zye =2 (3) f(z,y) = (&% — y)(6 — 2? — 2?)

fE 6.8. 7, y, 2 IFTRTOLLLEDERT, 3x+2y+ 2 =36 DEFEDH L. LTFTORIZEZ K.
(1 :zy+yz+z9:@H‘j(fﬁ?ai?)‘ﬁ‘d\fﬁ%ﬁ&)&éb\

)
(2) + — y + : DIR/MEZ KD 72T\,

(3) p >0 ﬁb’C 2P +yP + 2P ODERAMES K OR/AMEZ KD 7 X\,
(4) p>0,q> 01T U T aPylzPt? D KfEZ KDL I\,

M 6.9. a>0,b>0& L, A(a,0), B(0,b) 23 5. RZ&H-TEMA=MF OAB DJEE L THHIC
HBRPERDZI W, 72720 d, dy, dy 1ZFNF L AB, 7 OA, L OB L i P & DEKEHREE T 5.

(1) PO? + PA? + PB2D /N2 B P, (2) d + d2 + 2D/ 72 5 55 P.

(3) ddadpPERKRIZ72% L P. (4) d+dy + dpDWEB/INTIR B P EHRKIZIRD R P.
% 6.10. a > 0,b> 02 L, A(0,a), B(b,0), C(—b,0) £F 3. ?k%?%fva“—%Ljﬁaﬁi ABC D4
BIUWEHIZH B P #RDRI\N. 72720 dy, dy, d 1FZNF N BC, 4 CA, JLAB L 5P & Dix
MigEMEE 3 5.

(1) PA? + PB% + PC?* D /NI R B 5P, (2) d2 4 dF + d2D¥/INT 72 % 55 P.

(3) dadpd PERIZ 72 % 51 P. (4) dy + dy + d BN T2 B P L BRARIZHR D AP,
B8 6.11. A% M x N7 &3 5. ||Alop := sup{||Az||; ||z|| = 1} & A DFEHFZ / VAL WS . BL

TOIFFNIH U T, MEHZE / VL EkRkD K. eV b gx):=|z]?-1=0DFTD f(z) := || Az|*> D
MEfE 2% 2 5.

L 9 s 5 - 0 2 -1 2 1 3
(1) (2 3> (2) (_1 2) (3) <6 4> “4) 2 0 1 G) [ 3 -1 2
-1 1 0 -2 3 1

RIRE 6.12. IROMKE C L P & OERIEHEH 2 KDL X\,

(1) C: 2* —day +y* —4 =0, P(0,0). (2) C: 2% — 22y — 3y> — 1 =0, P(0,0).
3)C:a?—ay+y?—3c—3y—7=0, P(1,1). (4) C:a2®—3zy+14°=0, P(3,3).

78 6.13. AB=3,BC=4,CD =4, DA =3 25U ABCD CTHERKZE DDHEEZ KD
I,



